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Pp 407-408 Some answers are worked out on next 2 slides
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Review For Test: These formulas will be given to you.
S
Compounded Interest: A=P 1+ r
IH. nj.
P = principal (amount invested)
A = Amount after t years

e = Euler's number

Compounded Continuously: A = Pe™
r = rate as a decimal
t = number of years
n = number of compounds per year

The mass of a radioactive element at time T is given by

ol

Where Aq is the initial mass and h is the half-life of the element.
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Unit 4 Test Review

Find the inverse. State Domain & Range for f(x) and f'(x) af
_3 % y Y *Ix-3
1 f(x)=V3x+2 2 f0=2 %12
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2. 6Graph f(x) = 2% and its inverse at the graph provided.
£y f-*(x)=ﬁgﬁx_, .

Domain_(~ @, ®) Domain_(0, %) L
Range (0,0) Range. (-, )

3. If f(x)= log x, write the transformed function, g(x), with the given conditions

a  right 2, down 4 b. reflection x-axis, left 3,up 2
glx) = log(x-2)- gx)=~log (x+3) +Z
Expand
4 mfdy = Zhnx+3iny 5. |ogv;:2:jlogxﬁlogg—loga-@b

6. log(%):loghlogx-ﬂogz 7. Ini“/{—:qu 1.2[”9_ f‘l(gi‘
Write as a single log. Simplify if possibl:.
8. Inx-4iny-tnz = | X (_, 9. 3logx- 4logy + Hogz = Iogxy{:'
2lnx + 4inx = |n)(2)g"

= Inx*

10. log(¢ - 9) - (b9(x+3)~log(x l)) 11,
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Solve for x. Where an exact answer is not possible, round to the nearest hundredth.

2521 = 12534 13, e*=53
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. logzx +logz3 = 3 17. 2logsx = 6
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Suppose that $10,000 is invested at an annual interest rate of 5.4% compounded quarterly. How
much money will be in the account"at the end of 6% years?

A =014)71.96

How old is a bone if it currently contains 20.45 grams of carbon-14 but was estimated to
originally have 80 grams of carbon-14, whose half-life is 5730 years? (A=Ao(3)"™) Round to the
nearest hundred years. VN VY
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